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( General Instructions to candidates: 
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• Thtre is a 'Cool off timi.:' of 15 minutes in addition to the writing time of2½ hours. 
• 'You are neither a1\owed to write your answers nor to discuss anything with others during the 'cool oiftime'. 

Use the 'cool offtime' to get familiar \1-~th questions and to plan your answers 
Read the questions carefi.1i iy befixe answering 

• Calculations, figures and graphs should be shmvn in the answer sheet itself 
• l'vlaiayalam version of the questions is also provided 
• Give equatiQns wherever necessary 
• Electronic devices except nonprogrammable calculators are not allowed in the Examination Hall. 
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An•nver all questions. Each question carry 1 score 
C>.lj"j~J G-il13161nU7)«Y:1,io g;ir'Jl7))()~"")ll)(96f1D1irnr:,. 6TJG"'l) C.ci.J'.)C1,~C)TITT1m;io o'!0,1 •TllC,fbJ(il ollrn•) 

Section 'A' 6)m>~ , am' 
Choosf' ihe cnrrf'd ansv,:er from lhe <ID:J@!l' @dh:JSJCOTO)ruCDJlCM m1an6o cmml@CJCDJ 22com100 

fr,llov,in}~ ( 1 x 3 = 3) 

l. The Central economic problem of ho\V 

to prnch.11.:e is rPietted tc: 
<1. Distribution of t,,ationc1t Income 
b. Tt1chnoloiv of Produdion 
c. Price Media.nism 
iL Returns to scale 

2. Opportunity cost means; 
a. Value of fixed cost 
b. The value of variable cost 

c. The value of next best alternative· 
sacrificed 

d. The value of marginal cost 

6)(())6) (/)6)6mm)S Joo n[) !l'J (IT)6rfu. ( l x 3 = 3 ) 
1. afi)WB@ITT ~roi3~oB1 ~1 c006TT)o <aj)(TI") lllJGlJJ, 

cruocruanm ldh LnJCffl (!Jo 6ll.l(TU)@ \½:JS Jan@: 

a©· <liBcm°lw OJ©J0om rulcm@6IDo 

~1. ~<W•;:tF>Bm cruo<Jl!lhml<fh ru1B.!J 

crul. nfle.i cruoo.Jlwomo 

<U>l. a:anotmmicru0l-3di~ Lo.JcmJ,OCQJo 

2. IBloOJ(T1.)(1)0<0ID_cfh 6h.Jfe.JOJ 0T<)ffi(Oill2lC>c00i(Tn<m; 

a rrunlm 61,,1e_10.fl61o'A OJJP_J~\o 

h. ojlc:@3dh 6).!l..le.Jru16lCTR illJe.l.)io 

c. <ID.)isilro6l6J\t:13 n(Bgrnio m~J anos6«m:n 0 4e.i,10 

d. (TU111Jomn 6)_c,_Je.J()Jl@o)? 0Je.JJ,o 
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3. Which of the following is not related to 
the calculation of price elasticity of 
demanded 

4. 

a. 

b. 

C. 

a. 
Percentage change in quantity demanded 

Percentage change in price 

Percentage change in price 
b. Percentage change in quantity demanded 

c. 

d. 
Lower portion of Lhe demanded curve 

Upper portion of the demanded curve 

Fill in the blanks (1 x4=4) 
Indirect Subsidy ------
Tax paid received 

Gross - Depreciation = ------
investment 

Personal Direct ------
mcome taxes 

d NDPFC + NFlA ------
5. Give economic term for the following 

(1 x4=4) 
a. Degree of responsiveness of 

quantity demanded to change in its 
price 

b. The ratio of nominal GDP to Real 
GDP 

c. The family of indifference curve 
d. The value unsold goods, un used 

rawmeterials and semifinished 
goods which a firm carry from a year 
to next 

3. ® .> 6) !P @ ah a s J <mm 1 01 t00 J cm ru COJ 1 mo rul e.i 

!iI1 e..iaau <m 1 ah (D)' ahCJ6TT) J (Ti) ®Jr2lOCOJ1 6UJ(N)tZl1 ~p 
©TO) (ID. 

(l!>.JOB(l) C\Jli)~aJ16leJ UiHIDLZIO(J)QlC>go 

o©. ru1ei<D>16leJ UiHmllloro mogo 

EP= 11.qxp 
crul. · . Lip q 

4. oJl~cno nJJCD11½:f1.a6>i.a,. (lx4=4) 
a, ams~~ - e.isl-:!J 

O? 1.a.i <ml m.i Gn'J (T1.) 1 <U:t 1 

b. 6)Cll0©1IDo 1J ® in 21 om o = ------
ml~nJo 

C. OJJdMIDlcn<m LnJ an.,\ dM1 = ------
OJ(l)JQK)(J)o mlc0,~rmlc0,u8 

d. NOP FC +NFIA = -------
:) , :o):)6) '9 6) d:l:,:) S ~ c06l J (TT) (lJ l"Q) J 6) S ffi)Om.J<rnm lc0, nJ B 0 

~\fJ(lJJ.)cfu. ( I x 4 = 4) 

a. rule.i<BWOSJ~ (B~OBm«l'ro}l@~ LnJ«nlce, 

© 6171 G: (TT)C) «» 
b. (f)Jffil2lGL® ~1.cwl.n.Jl. (Q)Jo WLOO@(OTO) 

gfl_ (U)l. n..Jl.m)Jo (())ill2lleJJ~ ~ffiJnJOCIDo. 

c. cru:ll @cillS C"l.lld:h6ITT"~~J6)S ( ml'Rtlo<ncmoru 
:.cfuo) d:hJS),o6nJo 

d o:101 ~eJc,JOBm CQ:)6Tl11g 630! OJmdl:1@0)1©8 

r:nkrn @Tels 6 corm ru(3 ciill(cll'O) a%) ru n.D ld36l J m1 

(lJ 1 er c66) 0 ml <i:h whDJ O<OTU) ~ er '1J cm 67IB <Ji! ' 

@:)(j) 1dh IZIOCDil n.J l ma:m» 1 CQJ:)(DJ 1i.? e'i n.JITn 6ITT3u8. 

mocruornJcB,~ <m ('.J(fD@1c06lu8 amcmlOJCDJJ6)S 

IZileJ~o 
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6. 

a. 

h. 

C. 

d. 
e. 

Match Column A ,-vith Column B 
(lx5=5) 

A B 
Indifference i. Spending on 
curve Capital goods 
Isoquant ii. Rectangular 

hyperbola 
Average iii. Production 
Fixed Cost 
Tnvestme11t 1V. Consumption 
\Targinal Cost V. 'U' Shaped 

a. 

b. 

C. 

d. 

e. 

(l X 5 = 5) 

A B 
(n)QlgQdlJ s OJLc0io i. D)~ellOCD Cl.lm5'ITTlJ 

( rnlq_;Jdo(f) rmC>OJLcl:bo) ,&)(f()cfi(>l~ M116ff-s7 

CQl.)~ 61.ciJP_JQJ 

6)nJ)GimJC>d3,J06Tiei 11. 6)0cfuS::l8:>.)eJ© 

6>@,,Dc, 1(6 (g6D.J'.)g_3 

U~©OUO@l iii. !J2ID-S~:J'.''3ITTo 

mllll@ 6)!}_je]QJ 

mlC:<m'l--lnJo IV. g?,iJ(]@'.)(f)o 

cru 10C>am 6).!L]e.JC)J ..V. 'lJ' ®0 cfu ,} (mi 

Answer any 7 of the following. Each carries 2 Score (2 x 7 = 14) 
@:),i',f >lcfu)S,>;m) C:.i.l:)BJ()(ffi~lcmi '"'435)®1:a,l~~o 7 ~~3n"llTI ~mma,o m~v•..).tth, 63')C1l) C.i.J:)8,~:mmlmlo 

2 cn)Ge,9>:)(0 o_l'"lan~ (2 X 7 = 14) 

7. Classifr the following under the two 
branches of t~conomics. 
Elasticity of demand, inflation, 
GDP deflator1 cost of a fan. 

K What is the difference between positive 
economics and nonnative economics? 

9. 1f the price of good X rises and it leads 
to an increase in demand for good Y. 
How are the two goods related? Give 
examples. 

10 .. How the central economic problems are 
solved under; 

a. Centrally planned economy 
b. :tvfarket economy 

n. Write down any two properties of 
indifference curve. 

1. :m '.> @ w @<tho s 6 ((Jll"))] m 1 c06) J CTn ru m) o (ru m,m 1 cfu 

~roJcn'5Lcm CJDO@Jcfu~lro3 Cl'Yl<Doe.nlci]cfl@~"'t.. 

11~0<3m 22e..iocrurmlce,rm, mo61n~@ru@6~o. ml 

cwl.n.Jl (Wln.oa:~gm, 63©~ ~03';;:jOGffi CD146mlg76)0R 

6")'1JRlnJ. 

B. ruocru (0) QI l<fu (T\)Q(llJ((JW) l c0:, (J()QITU ~ cm ru10 L n.J '.) 12)J 

6TTJ1<fb m>ocru<mmldh (00(T"lJl(ffi0J;l,o ( <J:nJOrn.ilg"lru 

gQc06) Ql6TT)O 0ld' cn'5, c:mC>c30ogi n1 gQ<OO<J:6mJ 

illldcru) <ml1l2ile.Jj~ OJJ,®_J,:)Crno n(j)CTffi~ 

9. X nm (TT) cru O U) m crnm 7 6) OR nll eJ ,QJI eJ 1 fills O ::Q) 

rum®mo1, Y "fD<m cnJoillmmm)l@,ij a:.cuC>om 

(ID())l<OO Ql(O/ill(T)QIJ6TlsOc007. nillahkOO ((.)5TTsJ (Tl)0(l) 

ITT5cffi@ ~ o n(j)6<.ll36>ITT 6llJ m.tJ 6) ~3101 c:36\) CTl) J. 2J B 8 

n.nro6m&m3u8 nJ)'9J(lJ)J&. 

10. 0261.JJ, cruo<rumro)lcfu Lr:uCJOITT6m3u3 <D)O@W@,f.bOSJ 

c06J 6 rm aucruG QI J, C1JCTUJ"l c0, ~ 7ar3 o.())6GB@m nJ ro 7 

n.0 0 l c00 6 cm;,,. 
a. a:cfucmocruwm6m rnxru1"iOJJ/llCTUD 

b. '°' escruo~ crucru0 ruJ ruCTUD 

11. rru12J&Q rtu s rucc0,wrml6>(\q ( n,1 m>o (f) (lJ)OQI L<fuo) 

'"lffi6>arJlfu1eJ6o ©6ffi crurul<J:CJDdl:HO)cfuuil oa)'5'JCT>;i,cEt,. 
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12. Observe the following diagram and 
answer the questions given below. 

M 
P2 

C 

12. (D)C)6)<f' 6)d:tiJSJ(OT01 ('.,l,CQ, cffiO m7 ru'1cthl::fl
0
1,j(())] (T)J 

GUOn9:Jo Q:.1lC>GJi6m3u8d5l [)0m)©o me:i&,j<fu. 

O'------~----;!',r---­
gooJi 

a. Identify the bundles which cost 
exactly equals consumer's money 
income. 

b. Identify the bundles ,vhich costless 
than consumer's monev income. 

13. State any two basic reasons for the 
centTal economic problems. 

14. What is the difference between 
accumulated inventory and 
decumulated inventory? 

15. Write any two relationship betvveen 
marginal product (~-IP) and total 
product (TP) of an input. 

Pl 

a. g)n .. rnrse>co/D)oru15lcq OJ©J_!lle>mo n.J_lm6m 

!2l0·::W6o 6).1Je.JOJ'l'l~J<03 (l]06/ffi0(1JjCTD 6Tl.16TTsil 

e.JjcG,u8 c0,6)Gll5corm7 n/D'9r/l)~w,. 

b. 22nJG~C>c&((l)00.Jl@CTR C1.J0l1210ffio n.JlffiGQJ 

(l}:)J:l;J_o fl-'1..l£l..JOJ~1.~76)~ffi>i©3 ClK)GGBOQJ~ITT) 

6TlJ611s 1 EJ j cm u8 aj3@ro, ~po? 

13. mxruBru1> runuJJca,u8 crro@l0~01.J''lcm© lc56)6m) !2lJ6lJJ 

au o rrll cmm l cfu l n.1 w m 6cll3 ifcl a)6) <i!nD cm l().J o w 
ofil61 ®ffh 1 Q.JJ_ o m6f1s 6 <fb0©6m67IB u8 c,q) ~J m, 6 d:h. 

14. ~®&)(1JOR()lCQJ1@£-!..1 (BTcl<UlcS,©1<f':,€)2JJ_Q ~(m@(l]CJR 

Ol<:DJ1618J ~UDC>o'!16TTIOJJo ([)1r112ilP..JJ_~ OJ~f(l)JOCT1Jo 

n{j)®)( 

ts. 6)2l0m®o ~e'i?,::jan'."l..160 cn/lrli:)cm) :i2e:L;;:J<1nruJo 

(o)(lJ2)7eJ6~ G'l6TlsJ SDJrn..UoRTWD nm'9;~Jcfu. 

Answer any 3 of the following questions. Each carries 3 score (3 x 3 = 9) 
171):)iil'JJ 6hl.bJS~tlmD ,:;.,.J'.)3~\Wl31:!:!lm3 ~6)®1&1~10 3 aj)~:nrnlx'i ~,:m1r:>,:> ,Yl\I'j'n~.a,. ,ii'.JGi()'.J G-!lJ:Y3Ji 

rmmlmia 3 rruc<1M© ,>Jlma (3 x 3 = 9) 

16. Distinguish between stock vc1rible and 

flo"v variable with one example each. 

J 7. Briefly explain three limitations of GDP 
as the index of we(fare. 

'18. A consumer purchases 20 units of a 
commodity at rupees ""JO per unit. \,\/hen 
price falls to rupees 5 per unit, she buys 
30 units of the commodity. Calculate 
price elasticity of demand. 

16. (](1()61.J mo_1p LCl..JOJ:) nDOJ!,o ((l)(1J2)1 fl..JJ~ 

O.J.J, ((l).J,OITTJo g;i<3:Jn.0©6ffi <Tl.l<1..Dl((l)o ,1(j)!9J(O'l!,cfu. 

17. 6)2l0(ul'(J)o ~@.J,ffi))© Qe}\½:lano (GDP) (J?rf3~11l 

cmm l@a'A cmo 22 ru 6 cui,::i e..i::i CQJl dh6111cOOO c00 6 an <m 1 

e.JJ~ i1ll® nJml0l1oilcti>UD -'LlJa>1,c00l rulruml 

c05lJcfu, 

18. 630J ~n.J(B(s:Jc00»00J 10 0JnJ ml©c00lro8 20 cn;i6TT)lg 

cru::iwm6ID308 OJ:J5BB1~J- nfle_i 5 mJn.Jwomilce6\l 

0611Jf(J)<l:\½:JOu8 a:.0..nBmo 30 CDli6TT)7g::iCDll 

0 .J c8 rm 1 -·~B . o~) illi 1 m3 ru 7 e_1 ~ eJ c) cru m 1 c0:, cm 

cfu:) 6TT)6 cfu. 
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19. State the la1,v of demand. Draw demand 
curve from the following dc1ta. 

Price/Per unit Quantity demanded 
40 j 

30 10 
20 ·15 
10 20 

19. (].c,_J:)B(l) m1COJl1lo n{J)'9J(IJ)1c9,· COY)C:.)'l'' 6)d:h:)SJ_(()T1JJ 

13Cllil)'.) !i2rLl<llCDX)(J)l~J CL~J:)/=tmOJcct.1>0 OJ(()co&1:lcL'+>. 

<lllllilTilq rulf'J Ci.l'.l'.lll} :1,Z)~(lj 

,10 5 
30 10 
20 15 
10 20 

Answer any five of thl' foHow-ing. Each question carries 4 score (4 x 5 = 20) 
C~)J6lW oVJ,:JS1(1)lm C.:uOB,\fi!JIJ~l~ nf6';,:m15:, 18~-J Jlc1"1illlo]JCITT'l})h11 ~0:ffil"'•:> "-+.'iJY'.;::rn1,fb. 

1,J:JC:Cl>:.Jmilm10 4 m)9<0>00 cu"lCID,:> (4 x 5 = 20) 

20. Observe the follmving diagramm<::'S I 20. /ll)J6)'9 6)cfuos;icmm Mm;unGBBu8 rnlml<M.Aoo;icBJ. 

A 

0 

a .. Identify the two diagrammes 
b. State the reasons for the difference 

between the two diagrammes 

21. The Gross value of output produced by 
firm Xis Rs. 58,000. The Gross value of 
outputproduced by firm Yis Rs_. 75,000. 
The value of raw materials purchased 
by firm X from firm Y is 8,500. The value 
of raw materials purchased by firm Y 
from firm-Z is Rs. 5000. Then calculate 
value Added bv 

(a) Firm X, and 

(b) Firm Y 

(c) Differentiate value. added from 
value of output. 

Pnce 

() 

B 

Demand 

a. 06m,l QDCOlL(l)6GB~Jo rmlcil-:!alolCDJJcfu 

b. 0~at,~lro8 @cfuos3crnm1~t~ (WCQJL(l)6"Bl3~1&1e.1 

QJ~(O)Ji00U6GB~J@S d:b0ffi6TT)6)0<Jl6(0)6cfu. 

21. X "i.i)cm ~ e1 \'.l::J:::l Bm cm i 6TTilgl6)C1A @11l:)©® o 

~el\'.l::J<m o.iie..iJ.o 58000 ~dh,fTnJ. Y oa)cm ~rJ~.:P 

Bm CDJl6nilql@OR @f2lO<rnmo !IJei\l:IITT> rll2e..lJ,o 75000 

r~m1. X [181<;tjOBm CDJ~6mlg' Y ~rii,;80Bm 

(Il)l6ffilglro3 mlan6o ClK)GSBlCDJ mracruocrud.'h1(m 

OJCTUCIDJc66.l~J6)S !llJeJJ,o 8500. Y [l81iflBm 

<D>J6lnlg Z ll2PlruoBm (J))l6TT)lglco3 mlcmJo 

OJ06HBlCQi CTflom:io<rucfu1 rm ()J(T\)ill) Jc0@~J6)5 illl PJJ, 0 

5000. "4)8:blcoo 

(a) X 12e.'.f\l:10Brn CDJJ6mlq16xrg r:'-<.hf:jl<li-9e1mcom1 

rlile.iJ.O dh06mJru>. 

(b) Y g2eJ\l:10Bm (D)46TT)lgl6)CTJ <fh4~l<li.ciJ@©m) 

rllle.lJ.o dh06TnJ&J>. 

(c) d.'hl§l<li.'l...l@(OT()) i1lle.JJ,ru6o ~ri/r,.JITT) 0Je.J,~ru;io 

(D)l2!2lle.i6~ QIJ,@pauo OJJ,&.'5)r1lOc66.lJ<fu. 

25 Economics - 5/8 



22. From the following data calculate 
personal Income. 

a. 

b. 

C. 

d. 
e~ 

f. 

g~ 

.. 
Jtems Rs.in cores 

Net domestic product 20000 
at fa nor n,st (ND f\~) 

··-'---.. L'· 

Net factor income form 500 
abroad ()\fFIA) 

lJnd1stributed profit 300 
Corporate tax 800 
Interest received by 1200 
household 
Intfc'JT,st paid bi.,/ household 1700 
Transfer income 300 

--

()bservc the following diagramme 

A 

Based on the diagramme, correct the 
following-statements_ if necessary 
,,_ Bundles C and D are inferior to 

bundles A and B. 

b. Cow,umer is indifferent between 
bundles C and-D, 

c Bundle A is preferrnd to bundle C 

d, Bundle E is inferior to bundle D 

22. (ID'.)6)\1' 6)a'hO,;J(OTIJ) (3(()T())61Il3CS8 §2nJ(]:CD;;J(J)lij 

OJ_,\a}(lri'luKO) QJ©~t2l0(T)o c6,06lnjcfu . 

a. 

b. 

C. 

d. 
e. 

f. 

g. 

gQ m Gcln c;J 
(lllPJ 

CefbJsl,nSlmTh 

'">f'JSrfu C'l i1 eJ mil m8 (ITTo() 
n illQ:, LS J (lo') C 20000 

~EJQ . .j<'.Tno (NDPJ 

rill '-'68 cr0<mm 1mlrrn~32 CTfa(") 
'.) 

500 

neJscG:,OJ0JClJOmo ( ~,FlA) 

rnlcmCDEmo 6)2..]~;J(CTT!}) LJ'.)(S:o 300 

0icfu0 ©~a: CJ\? '111 c'b 1,icn 1 800 
(1)0@nDldb Wl 6m lgi <fb03.oo 1200 
ei@l~ n.Je.llUll 

{l)O@ru>l.a, CO>l6mlgi.e,oo 

«IBS'!d nJe.ilUl> 1700 
:ll,Jq@,e0os6@7c&c13 300 
(Transfer income) 

F 
IC. 

·' 
lC

2 

1c
1 

(\_i)(UJL(J)@Jll@OR mnslcru.c::,rn(DTT))laJ3 v,JCTUDOOJ 

mc&.;l;)7,u8 @<m9J<,16TR1m1o8 @l(i')J(mIDJrfl,. 

a. A, B 6f2.1ITTJle16d:htj2600CQJl (())::,0m0~0 @.,,J~iJ 

~<T'.JOCJ3 C. D 6Tll6TTsle.i6o3,<J3 <mWo(OJO\P(TT) 

(l]'.DJ'.)6ffi. 

b. C D n(J)<rnl 6TJJ'iTTslP.qcfhu3a6llsmJlmil (Qn.l 

Grs0d3©100J mlw3o(l)(ID(D:JGTD ( (J"\)C!Jfil2o'i1S'.J) 

C. C ng)CfD 6DJ6ITT18Jl6Jffi illlo(]:r>Jtth'l1I ~~ ~ru(U~:') 

c6(0)0(ll, A nmcm GllJ6TTsle.JlmJ 12lJCTUW6TDITT 

rndcili6rrn~. 

d. 6TIJsr1,flm8 D CQJJl.!lo,:uil (15>:Jm(,Jll2l,)p 6).cucy/J 

~mJC)uil 6DJ6Tls lm8 E @C\o©8'l'CTn<m;J6TT1. 
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24 a. Define production possiblity 
frontier 

b. Draw PPF (PPC) on the basis of the 
following data. 

Possibilities Consumer Capital 
good good 

A 10 0 
B 9 1 
C 7 2 
D 4 3" 
E 0 4 

25. "The Great Depression of 1929 is really 
break through for the emergence of 
modern macro Economics,!. Briefly give 
your inferences on the statement 

26. Draw an imaginary linear demand 
curve and locate the points which 
represents the following elasticities. 
ep = 1, ep = 0. ep = a, ep > L ep < 1 

24. a. [! e'.i \H0,,m <n)JW ~"rm::i am,arildlamnl ( rnc,e,o) 

m7c3ru,,_~cJ¾)Jc1:t>. 

b. ,TI))6)\!' (T)eJct:hlCQll56&lli 8006lffi(Ji3 QoJGCQ)O 

vil~ ~eJ;8Cl8m (n:owcvm:J (Glc)@lctla:11ml (01 

v:il>D) OJ0<B@Jcfu. 

Jl):) U) ,1 ((I) cJJ, CJ3 
i12C>...IG15Jef}(ID~ ©JeiWITT 

cum."5 ®,1 rucru ®l 

A 10 0 

B 9 1 
C 7 2 
D 4 3 

I E 0 4 I 

25. "1929 6)eJ 12lo.D(0TcJ):JCQ> c'ru::>ffiJ<DTO)l<fh 00CBJo, 

~ ill J m 1 cfh CTU..D j .eJ tTl.l OCTlJ ©lID 1 c8, ® 0 cro l((f) 
QJ@<il~mJ~ ~d3G)o dhJ~l" m167ffi~J6lS cfb@6TTs 

©TO) eJJ .a,c,8 .o.JJ (() J c001 oa)!f'J (()) ! .&. 

26, 63iu~ rnX)tfueJoJlcfu (':(T)(DGWJ5lJO a.~Jc"l/3(n0J~.S.o 

'"l_J'c)_s:J @::>61'9 ,oF>_'icm'1cnfl 3J~ nil12..1 @PIO 

T\ ~ cTS) l ,e,<m (1ffi) s (Q)O©@ \.':ls ,1©1T1) 1 <fu. 

ep = I, ep = 0, ep = a, ep > 1, ep < 1 

Answer the following questions (5 x 1 = 5) 
®J6>'J 6l&>:>s;icmm GiJ:>GJ(i}T<))lr:n ~@m0,HJY'.)liDJcfu (5 x 1 = 5) 

27. a. How the long run production 
function is different from short run 
production function? 

b. Explain the three stages of long run 
production function (Hint: returns 
to scale) 

.. 
21. a. (.o.flcruJefhC>£lJ 22eJ<;tje>8m Wl'.51ll2lo o'l<8o.eid:b0e.1 

:i:1e.1S½:ior.:im wdlamcmm1m3 mlcTOJ,o <lfi)67m@m 

ruJJ co-,,prn.>6)\}j§l © Id¾) ,ion 2· 

b, ,31c3neJc&,'.)8J ~i:e'\,JXKD ill<il1WJC()T'..))l61l7P, il!JCTT) 

0 e.J361ffiu8 rulm'Zilc%lJcfh. ( cru19_J(i) : W:,K)(tl) 

(DJrn.J(61-:~,iJ~ (.r,Jwl,~C>CT); mlcwo) 

Answer any two of the following questions. [ach question Gn-ries 8 m,uks (8 x 2 "= 16) 
(ID:)!,)',f 6)«£b:)5;\<7.m!) C.!Ll::IBJm3~1ri,3 r>J,Bo">cm;e;lP-1,lo '.l)6l6TTsiifilr~lrn ~(ffi(j)(:)o ~•l'J((f)}tfh. 6:lJC;((l'.J C,,JJB,\ 

@®lcn;,o 8 Cl\:.G<fb:>(3 o.ttmo (8 X 2 = lb) 

28. a. Name the three methods of 
measuring National Income. 

b. w-rite the steps of measuring 
National Income by any tvvo 
methods. 

28, cl. (B(3(R)")(D) GJ(i)JQJ:)(l),::i ('.5iog;}ct¾)JITT1(G!l(T)!,~ 

12ll cm J <·' 1 ruil <th u3 ,,,lj GJ CT) ~po c' 

b. .'416)(15)!:f),18.J~c:i ©6l"1,;J n:Ji<ml<O,Ui.l g]nJ(g(D)JCDl,_;j 

G8 uu1r.DJ ru060cicuo @1il&ic0GlJOTJ(ITilmj~ 

()Jl\",.flw ne1~68T3u3 ruJ)S"FJ>Jcfu. 
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29. Observe the cost schedule. 

Out TC TFC TVC AFC AVC AC MC 
put 

0 
1 
2 
3 
4 

5 
6 
7 

8 

9 

10 
11 

10 
20 
30 
38 
46 
52 
60 
64 
68 
74 
SU 
92 ' 

a. Complett> the cost schedule 
b. By usj ng the data given in the 

schedule dravv TFC and TC cu.rves 
in the same set of axis. 

30. a. State the conditions for the optimal 
choice of a consumer (consumer's 
equilibriun1) 

b. Explain the same with the help of a 
suitable diagramme. 

Out TC TFC TVC AFC AVC AC MC 
pul 

0 
1 
2 

3 

4 

J 

6 
7 
8 

9 

10 
11 

rn 
20 
30 
38 
46 -, 
J ... 

oO 
64 
68 
74 I 

80 
92 

rt. 6)!>..le.JOJ ru§ldh n.Jl@«TIW4dha,lc66)Jca, 

b. © rue.I o1 n.J§ 1,a, Cl)) 6 6>S (7.JW s 1 ffilDQ m «mJJ 1 mB 

6>ilio«ITO) 6>!>..le.JGJ OJLifuo (TC), 6)r2l0(0TD)o. 

aunl© 6>!>..le.JOJ OJ(;fuo (TFC) omcmlru @a,~ 
CUXDiL<n©lID 1«!8 ru ©(D' .00 l d3>. 

30. a. 22n.1ago.oonorul@GR · ~©lIDrzi 6>®©@6fQTO)SJ 

'k}lm (~n.JOl'sQ&morul6>~ cruamie..ilcmo·ru 

cmn) ~OJ cm.i, 00w ru.i,rucruo cfuuil 

~)6)00) 1iM Oo? 

b. CWCQiLCl)(OllJ)1@1 cruruX:iCQl(]l(IDU)06)5 g2n.JCll@:) 

ca«))Q rul@~ cruom6ei1 cmo rumi.o rulruinl 

a}6)Jcfu. 
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